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Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
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student,

All questions carry equal marks.
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1.

Rrars & ot & 91 IRSG & W
PEd ¢ -

(A) o

(B) WeHIvH

(C) e

(D) Suda Wl

IR A9 fasme v @ o b9
g

(A) 1975
(B) 1875
(C) 1932
(D) 1962

qrved @ fEel wag §
(A) TIURDIR
(B) HARDRR
(C) ¥GCNBRR
(D) FRHRR

Toflell T @ -
(A)  IMHEN
(B) Pl
(C) HaHRN
(D) SIASR®
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(3)

Use of fertilizer with irrigation water is

called :

(A) Fumigation
(B) Fertigation
(C) Isolation

(D) All of the above

Indian Meteorological Department was

established in :

(A) 1975
(B) 1875
(C) 1932
(D) 1962

Lower surface of atmosphere is :
(A) Troposphere
(B) Mesosphere

(C) Stratosphere

(D) Thermosphere

Azollaisa:

(A) Herbicide
(B) Insecticide
(C) Fungicide

(D) Biofertilizer
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5. WRAN $Y IHe I $al § 7 5. Indian Agriculture Research Institute is

located in :
(GVARSICRIY (A) Lucknow
(B) et (B) Bhopal
(C) &EEIE (C) Hyderabad
(D) ¢ feeel (D) New Delhi

6. fI=folRad # 9 -1 PP @e § ? 6.  Which of the following is organic manure ?

(A) B (A) Compost
(B) TR B! WE (B) Farm Yard Manure
(C) &Y Bl TQ (C) Vermicompost
(D) SUgad JHI (D) Al of the above
7. 39M IRd IS Wl ® 7. Ozone layer is found in :
(A) TRHRR ¥ (A) Stratosphere
(B) HIRWRR (B) Mesosphere
(C) CIURDRR (C) Troposphere
(D) 9FRHRR H (D) Thermosphere
8.  HMIBIUT & Bdel TE-aT 99T Bl © 8.  Cropping intensity of monocropping is
always :
(A) 100% (A) 100%
(B) 200% (B) 200%
(C) 300% (C) 300%
(D) 400% (D) 400%
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9. B @ Tq fhds grT andl ol ® ? 9. Wind speed is measured by :

(A) T feeels (A) Wind vane

(B) UMM (B) Anemometer

(C) TR (C) Potometer

(D) <f~aameR (D) Tensiometer

10. 9Rd ¥ fobel Serarg & & ? 10. There are how many climatic zones in

India ?

(A) 16 (A) 16

(B) 15 (B) 15

€ 20 (C) 20

D) 9 (D) 9

11. gg g 4 S ioH & fban ufoerd 11.  What is the percentage of oxygen in pure

2§ 2 air?

(A) 21% (A) 21%
(B) 20% (B) 20%
C) 19% C) 19%
(D) 78% (D) 78%
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12, ffEd dfed gawer & 919 U@ & 4 & 12. Growing of two or more crops

cHS W I A A T AR waet @ simultaneously on the same piece of land

with definite row arrangement is called :

ST HEAT B

(A) Fi¥a wd (A) Mixed cropping
(B) 3 B (B) Intercropping

(C) Al = (C) Mixed farming
(D) 3FPfAPH HHA (D) Sequential cropping

13. TS WO B d DI SUART fbar 13.  The seed of pulse crops is inoculated by :

ST B

(A) VEIfRM Bk R (A) Rhizobium culture
(B) el BRd Slaret R (B) Blue green algae
(C) Tuilell &1 (C) Azolla

(D) Suga H A Bl el (D) None of the above

14. 9RO az—iﬁ ChLEIn] URYS @ RAUAT 6 14. Indian Council of Agriculture Research

E—g off ? was established in :
(A) 1939 (A) 1939
(C) 1938 (C) 1938
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15.

16.

17.

ffeiRad § & $H-91 U &7 o Ud
d@ g ?

(A)  FTEA

(B) BRI

(C) 3ifioH

(D) SHIF T

STSIMIFE BB § g &1 Ifaed
BT B

(A)  46%

(B) 18%

(C) 20%

(D) 21%
frfafad & @ oF-a1 Y @1 fFdee
QY% Tcd el § 7

(A) Dfesrd

(B) HWIRM

(C) urRcRrM

(D) R

Ag-102

(7)

15.

16.

17.

Which of the following is a basic plant

nutrients ?

(A) Carbon

(B) Hydrogen

(C) Oxygen

(D) All of the above

The percentage of nitrogen in Di-

ammonium phosphate is :

(A)  46%

(B) 18%
(C) 20%

(D) 21%

Which of the following is not secondary

plant nutrients ?

(A) Calcium

(B) Magnesium
Potassium

(©)

(D) Sulphur

Set-B



18. IO Bl Pl ISRV © 18. Example of sugar crop :

(A) PR (A) Sugarbeet
(B) U (B) Cotton
(C) = (C) Sugarcane
(D) (A) 3R (C) (D) Both (A) and (C)
19. ¢ &9 ga o1 uEm g ? 19. Family of jute is :
(A)  feforge (A) Tiliaceae
(B) AT (B) Malvaceae
(C) vl (C) Aliaceae
(D) T (D) Asteraceae
20. A WH Udh IR @ 20. Ratoon cropping is an example of :
(A) 3D BE BT (A) Sequential cropping
(B) 3 B¥dl & (B) Inter-cropping
(C) Rel iftr &1 (C) Relay cropping
(D) SUYa H § I Tl (D) None of the above
21. fy=foRed & @ @F-w1 W& gafora 7€ 21 Which of the following is not correctly
80 matched ?
(A) T=TT—TICH (A) Sugarcane—Poaceae
(B) WhlerdT— feferg (B) Phalsa—Tiliaceae
(C) oTegT—Tforgd (C) Garlic—Aliaceae
(D) TETR—UIGH (D) Niger—Poaceae

Ag-102 (8) Set-B



22.

23.

24,

frefoRag & @ - W 9g @
B el & ?

(A) ST

(B) T

) T

(D) T

3REY BT JHEfdd A9 2

(A) DO Bl

(B) SJIRTSOIT Hlgdl

() fomr s

(D) e B3

frafoied ¥ 9 dF-1 Bad Y arell
g ?

(A) I

(B) I
(C) Wl

(D) ST W

Ag-102
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22.

23.

24,

Which of the following is not a Rabi

Season Crop ?

(A) Potato

(B) Sugarcane

(C) Wheat

(D) Chick pea

Botanical name of Arhar is :

(A)

Cajanus cajan

(B)

Oryza sativa
©)

Zea mays

Avena fatua

(D)

Which of the following is a Fibre
Crop ?

(A) Cotton

(B) Jute

(C) Mesta

(D) All of the above

Set-B



25. el GHl el B : 25.  Not correctly matched :

(A) UF—3IRTSS Hersd (A) Rice—Oryza sativa
(B) Hr—fawr Wfwer (B) Green Gram—Vigna radiata
(©) IR —qNGH CIEGEN (C) Sorghum—Sorghum bicolor
(D) WR—UZW Wife (D) Lentil—Cicer arietinum
26. UF-UE © U 26. Rice-wheatisa:
(A) THISTI A aP (A) One year crop rotation
(B) fgavia wael o (B) Two year crop rotation
(€) Bad wad 9% (C) Three year crop rotation
(D) dR U BN qh (D) Four year crop rotation

27. HIHT Pl des A q\—cf g 3me TS 27. Potato is planted before the harvesting of

FRAT ST 2 maize is an example of :
(A) 3T B bl (A) Inter-cropping
(B) ¥ wda @ (B) Mixed cropping
(C) 3FIidd BEe BT (C) Sequential cropping
(D) Rel BIftT @ (D) Relay cropping

28. TRUYJIR T T : 28. Weed isa/an :
(A) FABHY Trem (A) Undesirable plant
(B) W dT e (B) Crop plant
(C) (A) T4 (B) TFi (C) Both (A) and (B)
(D) SUYa H A Bl 7Tl (D) None of the above

Ag-102 (10) Set-B



29.

30.

31.

32.

Ag-102

AR BT R A R
(A) feforge

(B) WHo¥il

() FEwHd

(D) forge

T # ORI @ A Bl §
(A) 2n=80

(B) 2n=60

(C) 2n=40

(D) 2n=82

Ui @ o g waer § By 2 7

(A) el
(B) HE

(C) =

(D) e

W NI &l YT~ IdTq ff PULIEVIGH
g7

(A) HERTY

(B) TR U

(C) Uud

(D) NIORIM

(11)

29.

30.

31.

32.

Another name of Leguminosae :

(A) Tiliaceae

(B) Fabaceae

(C) Crucifereae

(D) Aliaceae

Chromosome number in sugarcane is :

(A) 2n=80
(B) 2n=60
(C) 2n=40
(D) 2n=82

In which crop the process of Pegging

takes place ?

(A) Groundnut
(B) Tobacco
(C) Sugarcane
(D) Potato

Which state has highest rank in foodgrain

production ?

(A) Maharashtra
(B) Uttar Pradesh
(C) Punjab

(D) Rajasthan

Set-B



33, W5 @ fhar fed wad H g 33. In which crop does the process of curing

39 take place ?
(A) 3lef (A) Potato
(B) =T (B) Sugarcane
(C) dHIh (C) Tobacco
(D) @®U (D) Cotton
34, TC] BT Bl IGERT © 34. Example of cash crop is :
(A) 3] (A) Potato
(B) =T (B) Sugarcane
(C) THIR (C) Tobacco
(D) Sugad FI (D) All of the above

35. fmfofad # ¥ I @ %9 @ &g 35 Which of the following is a major weed

EXYATR e § 7 of wheat crop ?

(A) HaRY TIER (A) Phalaris minor
(B) |ISAISM Saclalid (B) Cynodon dactylon
(C) WISl el (C) Phyllanthus niruri
(D) Sugad FI (D) All of the above
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36. BUM B WAl & foly BIF-Ul J3T SUYH

g ?
(A) et 3T
(B) el Hal
(C) ielG T
(D) Il HaT
37. 99 @I @3 AT B :
(A) WIS YRR
(8) fadre qawpeT

(C)  RETOT YUREHRYT
(D) Suga H A Bl el

38. ST Tg™ @1 fhar f6d wod § @ S

g 7

NI
(B) oM
(C) W
(D) 3

Ag-102

(13)

36.

37.

38.

Which soil is suitable for

cultivation ?

(A) Red soil

(B) Black soil

(C) Alluvial soil

(D) Yellow soil

Sowing of seed is a :

(A) Primary tillage

(B) Secondary tillage

(C) Conservation tillage

(D) None of the above

cotton

In which crop the process of earthing is

done ?

(A)  Wheat

(B) Paddy

(C) Maize

(D) Potato

Set-B



39.

40.

41.

42.

Ag-102

HH-U B qYAvSed A8glor @ Ja1  39.

T ReriNo Beel 8 ?
(A) fIes Bl
(B) TolE BVl

(C) 3TN dTell H¥e]

(D) T dTel B¥Iel

S &1 & W.-T9. B & 40,

(A) 7.8
(B) 7.0
(C) 80
(D) 9.0

TR H I @1 ufaed BT R 41.

(A) 18-22%
(B) 20-25%
(C) 45-50%
(D) 30-40%

el 1 o v I W die § 7 42.

(A) U™

B) ¢
(C) |

(D) HddT

(14)

Which crop fixes atmospheric nitrogen in

the soil ?

(A) Oilseed crops
(B) Legume crops
(C) Cereals

(D) Fibre crops

pH of neutral soil is :

(A) 7.8

(B) 7.0

(C) 8.0

(D) 9.0

The percentage of oil in soybean is :
(A) 18-22%

(B) 20-25%

(C) 45-50%

(D) 30-40%

Pink boll worm is a major insect of which
crop ?

(A) Cotton

(B) Jute

(C) Mustard

(D) Maize

Set-B



43.

44,

45.

46.

Ag-102

MR P @ # foad ufowd Tegom
I 8 ?

(A) 0.5%

(B) 0.2%

(C) 0.3%

(D) 0.4%

fy=foRed § 9 P9-91 IR e @M
Tl T ?

(A) TR 3 EE

(B) TGRS

(C) T "

(D) el

SoTEHT el # WaReT Bl &
(A) FreEEST 3

(B) UREH @

(C) T @I

(D) 9T D

T fag @1 fiar o 8 ?
(A) U SHawil

(B) IRl ¢

(C) e

(D) TUH. UH. MMM

(15)

43.

44,

45.

46.

What percentage of nitrogen is in farm

yard manure ?

(A) 0.5%
(B) 0.2%
(C) 0.3%
(D) 0.4%

Which of the following is not a bulky

organic manure ?

(A) Farm yard manure
(B) Vermicompost
(C) Green manure

(D) Oil cakes

Legume crops are rich in :

(A) Carbohydrate

(B) Protein

(C) Oil

(D) Fat

Father of Agronomy is :

(A) Petero Decresenzi
(B) Jethro Tull
(C) Liebig

(D) M. S. Swaminathan

Set-B



47. 09 B9 @) g‘m‘ T gIg =1 9| 47.  Which crop requires lower temperature at

@I JMALIHT BT 8 ? the time of sowing ?
(A)  HPT (A) Maize

(B) ﬁi (B) Wheat

(€) & (C) Rice

(D) ®uN (D) Cotton

48. ffoRad § 9 @9-91 ifeldd Savd  48. Which  of the following  complex

39 fertilizer ?
(A) gRar (A) Urea
(B) WIT 3w UIewT (B) Murate of potash
(C) T YRGBT (C) Single superphosphate
(D) STESMIFH BRWe (D) Diammonium phosphate
49. &I 91 Bl URafid fdam S |edl & 49.  Texture of soil can be changed by :
(A) SRS gRI (A) Use of fertilizer
(B) RErg g (B) Irrigation
(©) BED TGIg gRI (C) Use of organic manures
(D) Suga H A Bl 7Tl (D) None of the above
50. o9 BT dsi< M & : 50. Botanical name of paddy :
(A) SIRTSVIT HTgdl (A) Oryza Sativa
(B) fomm (B) Zea mays
(C) UIESHH Wegdd (C) Pisum sativum
(D) T ‘iﬁgsﬂ (D) Avena fatua

Ag-102 (16) Set-B



51. 3TaRY Hcl & S&TexY @ 51. Example of cover crop is :

(A) HIPT (A) Maize
(B) dToIXT (B) Pearl millet
(C) o (C) Paddy
(D) S¢ (D) Urd
52. ‘%Y A=’ weg foh 9TeT @1 ® P 52. The term ‘Agronomy’ is derived from
which language ?
(A) dfes (A) Latin
(B) Wao (B) Greek
(C) wd (C) French
(D) YRGE (D) Indian
53. URWRYT &7 e 2 : 53.  Father of Tillage is :
(A) YR SHII (A) Petero Decresenzi
(B) IRl T (B) Jethro Tull
(C) T4 TH. 94 (C) S.S.Bains
(D) SN . Wrsd (D) G.J. Mendel
54. JNRAT H ASEIOM &I Gl gnil g 54. Percentage of nitrogen in ureais :
(A) 46 (A) 46
(B) 48 (B) 48
(G 20 (C) 20
(D) 16 (D) 16

Ag-102 (17) Set-B



55.

56.

S57.

58.

Ag-102

S U H BIF-Hl BEd dFl e H
SE Ol B ?

(A) HIPI

(B) o

(C) o™

(D) HUH
WRT T TR §
(A) KW

(B) wadT A
(C) g9 ¥

(D) WR ¥

Fd BT EOerer fhae gRT fordy
T ?

(A) SRT T

(B) MR I

(C) Wl TH. R

(D) . 4. e

3REX BT ST el W B

(A) 10-12 f&m .
(B) 12-15 U R,
(C) 15-20 fHu /e
(D) 20-25 fHUT/R.

(18)

55.

56.

S7.

58.

Which crop is grown in U. P. in all the

three seasons ?

(A) Maize
(B) Potato
(C) Paddy

(D) Cotton

Khaira disease belongs to :

(A) Wheat
(B) Maize
(C) Rice

(D) Sorghum

‘Horse Hoeing Husbandry’ was written
by :

(A) Jethro Tull

(B) Arthur Young

(C) J.S. Kunwar

(D) J.V. Liebig

The optimum seed rate of pigeon-

pea :
(A) 10-12 kg/ha.
(B) 12-15 kg/ha.
(C) 15-20 kg/ha.

(D) 20-25 kg/ha.

Set-B



59. WAl TN H PEA  Se-ffedige @l 59.  Percentage of CO; in soil air is :

BIRKGRIRS R

(A) 0.3% (A) 0.3%
(B) 0.03% (B) 0.03%
(C) 0.25% (C) 0.25%
(D) 0.50% (D) 0.50%

60. fr=iforRad & | -9 T IR-TITHD 60. Which one of the following is a non-

selective herbicide ?

M 8 ?

(A) TATSHRIC (A) Glyphosate

(B) URIare (B) Paraquat

(©) (A) 3R (B) T (C) Both (A) and (B)
(D) Suga H A Bl 7Tl (D) None of the above

Ag-102 (19) Set-B



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

4, YE-YRAH H U W & IR GRITIT STR—
A, B,CTd D& | Wendi & S IR fddedi # 9
TP FE FE T GeH SHE SR Bl © |
IR Bl OMR NRR-e § Fid go dwar §
e JR WA 2
SRR
'EL
1 @ © O
w2 (A ® O
w3 D @ © ©
G IR AT WY TR = plel I7 987 T
2, T T | ST R A7 T, S R IR
feam S |

5. UAP UM B b GEM & AP fordd SR
e B, I B AR 3P YIM b SR |

6. T SR dad 3l TH. 3R, SR-U5F (OMR
Answer Sheet) R 8 A 99 2| SRS |
fRgiRd Yo & 3remar 3 del W foar wan
IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
B W foras 9 @ I oI W W et @
WYY Ue fora S |

8. WIeT 9Ud & ST Wt der fRierd @
3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
TE-QRAHT o S A ¢ |

9. fanfeq mfeT = 2|

10. @15 A WG BR, YH-YRAdE & 3 H, WH-IR
& forv fou @reh o W & far o =iy |

11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |
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